FA-H7074-)b:

(&5 4] DF22sx2u16_FX
[BXZ] Multifunction Decoder
(8Bl RILFT70D Y3y 714

[7RLA] 3

CcvV  |ERHH & 16 |[VATY B30

Ccvl [E7FLZA 3 0x03 0000 0011

CV3 |[InEE 0 0x00  [0000 0000

CV4  [BuRE 0 0x00  |0000 0000

CV5 |IAEE 0 0x00 (0000 0000

cv? |EEsuN-JavES 3 0x03  |0000 0011

cvs |HELSHID 103 0x67 0110 0111 |SNJPN:Nagasue System Design Office

cVvitl |IN\gyba4 L7 ME 100 0x64 0110 0100

CV17 [Hh3E7 KL A 192 OxcO  |1100 0000

CVi18 |#EsRT7 FLA 0 0x00  |0000 0000

CV19 [#84$E7FLA 0 0x00  |0000 0000

CV21 [#8487 FLAXIES F1-F8 255 Oxff 1111 1111

CV22 #3187 RUAR & FL-F9-F12 |255 Oxff 1111 1111

CV29 |NERERTEH#T 22 0x16  |0001 0110 |bit5=2byte,
bit2=7F+OJ 1k
bit1=FL,
bit0=7 A

CV33 [AYRSA MBS 68 0x44  |0100 0100 |bit(7-4) 5L {E |
bit(3-0)JB L $E R Fno
* AL {E=4/15,

FATRA

CV35 |FX1 96 0x60 |0110 0000 |bit7=END#I{HI(2END),
bit6=END|f#I(1END),
bits=75 M EHA =1k,
bitd=g kT 57 (=0:Fi) (=118),
bit(0-3) = FnogE(0-12) ,14=H = «T

CV36 |FX2 113 0x71 0111 0001  |bit7=END#I|fEI(2END),
bit6=END#I|fEI(1END),
bits=75 R EH A zh1k,
bit4= 52 kT /5 RI(=0:A1T) (=11%),
bit(0-3) = Fno§E(0-12) ,14=5 s T

CV43 |ERITHLETE 15 0xOf 0000 1111 |bit(7-4)iHILIE |
bit(3-0)iE L $E R Fno
*HE3N

CV46 |LOCK FX DIR 15 0xOf  |0000 1111

CV49 |Product No 188 Oxbc  [1011 1100

CV50 |Sound Volume 240 0xf0 1111 0000

CV54 |[Start Delay 2 0x02 0000 0010

CV58 |DC_MODE 3 0x03  |0000 0011 |(bit7..bit0) = (F7..FO)

CV59 |DC_MODE 0 0x00  |0000 0000 |(bit4.bit0) = (F12..F8)

CV60 |DF22sx2ul16 Specific 216 0xd8  [1101 1000 |bit4=stopdim,

Configuration bit3=AckFull,

CV61 |EFEMEERE (51 FFXFA) 3 0x03  |0000 0011 |bit1=2ENDH £ XT,bit0=1END{H £ KT

CV62 |FX FxDecay / FxRate 196 Oxc4 1100 0100 |FxDecay(bit7-4),
FxRate(bit3-0)

CV63 |¥isRFXEASA 13 0x0d  |0000 1101 |bit7=END#I{HI(2END),
bit6=END#|{EI(1END),
bits=75 M EHA =1k,
bitd=5 kT /5 RI(=0:A1) (=17%),
bit(0-3) = Fnog%E(0-12) ,14=H = &T

CV64 |Brake Config 10 0x0a 0000 1010  [(bit7-4)BrakeTimming,
bit3=AutoBrake,
bit2=Accel Sens
bit1,0=BrakeSens

CV105 |FTA & EE #1 0 0x00 0000 0000

CV106 |FREEE = #2 0 0x00  |0000 0000

CV112 |[F1EBE /AT K FE R 246 0xf6 11110110 |bit(7-4)iB LB
bit(3-0)KT A FE Al
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse

CV113 |F2BBE /KT K FE R 255 Oxff 1111 1111 |bit(7-4)iB 5L B

bit(3-0)XT A FE A
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse
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CcV

e

fE

165

NATY

B3

CV120 [sound Mode

144

0x90

1001 0000

bit7=7FA0H DY FEZH
bit6=

bit5=

bit4=brake

bit3= o
bit(2-0) TI—HF&E 7l

000: 77D Y3 5 F 16Fx
100:E

101: 71—t

CVi21

sound Mute

0x08

0000 1000

bit(0- 3) %JFnoitEE(o—m) A4=E k&)

CVi41

BRKOOSPEED

12

0x0c

0000 1100

T
2.

CV142

BRKO1SPEED

24

0x18

0001 1000

JL—%F8§ ?IH.

CV150

MOOSPEED

0x01

0000 0001

MOTORE

CV151

MO1SPEED

18

0x12

0001 0010

MOTORE:

CV152

MO2SPEED

36

0x24

0010 0100

MOTORE:

CV153

MO3SPEED

64

0x40

0100 0000

MOTORE:

CV154

MO4SPEED

128

0x80

1000 0000

MOTORE:

CV155

MO5SPEED

192

0xc0

1100 0000

e K Koy Ky Koy
I“"I T R RS R RS T

MOTORE %X

CV160

sx01

32

0x20

0010 0000

bit(7-6)= ﬁrﬂﬁ%ﬂfﬁ ( 0:both 01:fwd 10:rev 11:both
bit5=1:loop 0:no,

bit(0-4) = Fno}& 7 (0-28)

26:707— (B Eh

27:)9F A (B Eh)

28:7L—X(BE)

29 EITEE—Flch1 5 H)

3EME

CV161

sx01B

192

0xc0

1100 0000

bit(6-7)=H = 4E%[E

CV162

sx02

33

0x21

0010 0001

bit(7-6)=75 M #l{& (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno#& 7E(0-28)

26:707— (E&h)

27:)9F A (BB

28:7L—X(BE)

29 ETEE—RCch1 &)

3EE

CV163

sx02B

192

0xc0

1100 0000

bit(6-7)=H = 4EXRE

CV164

sx03

34

0x22

0010 0010

bit(7-6)=75 [@1 & (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno#& 7 (0-28)

26:707— (B &)

27:)9F A (B &)

287 L—F(BE)

20:FEITEE—Flch1 558)

31EE

CV165

sx03B

192

0xc0

1100 0000

bit(6-7)=H = 4EXFE

CV166

sx04

35

0x23

0010 0011

bit(7-6)=75 M #l{& (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno#& 7E(0-28)

26:707— (B &h)

27:)9F A (BB

28:7L—X(BE)

29 ETEE—RCch1aH)

3EE

CV167

sx04B

192

0xc0

1100 0000

bit(6-7)=H = 4ERRE
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CcV

e

fE

165

NATY

B3

CV168

sx05

36

0x24

0010 0100

bit(7-6)=75 M #l{E (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno#& 7E(0-28)

26:707— (E&h)

27:)9F A (BB

28 7L —F (B &)

29 FETEE—Rlch1 54)

3EE

CV169

sx05B

192

0xc0

1100 0000

bit(6-7)=H = 4EXRE

CV170

sx06

37

0x25

0010 0101

bit(7-6)=75 [@1 & (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0:no,

bit(0-4) = Fno}g % (0-28)

26:707— (B &)

27:)9F A (B &)

287 L—F(BE)

20:FEITEE—Flch1 58)

3EE

[AANA

sx06B

192

0xc0

1100 0000

bit(6-7)=H = 4E%FE

CV172

sx07

38

0x26

0010 0110

bit(7-6)=75 R #l{& (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno#& 7E(0-28)

26:707— (E&h)

27:)9F A (BB

28 7L —F (B &)

29:E{TEE-F(ch1 &)

3EME

CV173

sx07B

192

0xc0

1100 0000

bit(6-7)=H = 4EXRE

CV174

sx08

39

0x27

0010 0111

bit(7-6)=75 [@1 & (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno#& 7 (0-28)

26:707— (B &)

27:)9F A (B &)

287 L—F(BE)

20:FEITEE—Flch1 558)

31:EIE

CV175

sx08B

192

0xc0

1100 0000

bit(6-7)=H = 4EXFE

CV176

sx09

41

0x29

0010 1001

bit(7-6)=75 M #l{& (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno#& 7E(0-28)

26:707— (B &h)

27:)9F A (BB

28 7L —F (B &)

29:E{TEE-F(ch1 &)

3EE

Ccvi177

sx09B

192

0xc0

1100 0000

bit(6-7)=H = 4EXRE

CV178

sx10

42

0x2a

0010 1010

bit(7-6)=75 [@1 & (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0:no,

bit(0-4) = Fno#& 7 (0-28)

26:707— (B &)

27:)9F A (B Eh)

287 L—F(BE)

20:FEITEE—Flch1 58)

3EE

CV179

sx10B

192

0xc0

1100 0000

bit(6-7)=H = 4EX[E
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CcV

B

fE

165

NATY B3

CV180

sx11

43

0x2b

0010 1011 |bit(7-6)=A [AIH{E (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno$5E(0-28)

26:J07— (B &h)

21:)9F42(E )

28 7L —F (B &)

29:E{TEE-F(ch1 &)

31 EME

CV181

sx11B

192

0xc0

1100 0000 |bit(6-7)=F &= 4EXRE

CVv182

sx12

44

0x2¢c

0010 1100  |bit(7-6)=75 Il ##E (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0:no,

bit(0-4) = Fno3g % (0-28)

26:707— (B &)

21:)9F42(E )

287 L—F(BE)

20:FEITEE—Flch1 58)

31EME

CVv183

sx12B

192

0xc0

1100 0000 [bit(6-7)=-B& & 4EXFE

CV184

sx13

45

Ox2d

0010 1101 |bit(7-6)=A [AIH{E (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno$5E(0-28)

26:J07— (B &h)

21:)9F42(E )

28 7L —F (B &)

29:E{TEE-F(ch1 &)

31 ESE

CV185

sx13B

192

0xc0

1100 0000 |bit(6-7)=H & 4EXRE

CV186

sx14

46

Ox2e

0010 1110  |bit(7-6)=75 Il ##E (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno3g % (0-28)

26:707— (B &)

21:)9F42(E )

287 L—F(BE)

20:FEITEE—Flch1 558)

31EME

Ccvi187

sx14B

192

0xc0

1100 0000 [bit(6-7)=-B& & 4EXFE

CV188

sx15

47

Ox2f

0010 1111 |bit(7-6)=A [AIH{E (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0O:no,

bit(0-4) = Fno$5E(0-28)

26:J07— (B &h)

21:)9F42(E B

28 7L —F (B &)

29 ETEE-Fleh1 558)

31 EME

CV189

sx15B

192

0xc0

1100 0000 |bit(6-7)=F & 4ERRE

CV190

sx16

48

0x30

0011 0000 |bit(7-6)=75 Ml ##E (00:both 01:fwd 10:rev 11:both
bit5=1:loop 0:no,

bit(0-4) = Fno3g % (0-28)

26:707— (B &)

21:)9F42(E B

287 L—F(BE)

20:FEITEE—Flch1 58)

31EME

CV191

sx16B

192

0xc0

1100 0000 |bit(6-7)=-B & 4EXFE
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